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Topic:- GENERAL HINDI

1) CANCELLED

AT FT YY T AT H & Fley wv 82
L. &

2.5

3. 39

4. 32

Correct Answer :-

2) “garia” sg K wPFd 39w AR AT aeg F AT 7 RFereq T
1L + e
2.9 + Ad
3.9 + 3end
4.99 + 3d

Correct Answer :-

3) ‘HEAA F g U3, gt A diar & FleT A1 IdFR 7
1. &9
2. JtfaRAied



4. SCATIHT

Correct Answer :-

4) SYTHIOT H AT HT AT fFH TR 9 AT Far smar 82

1. &9 dUT 3TURUT & TR W

2. QT TTIl & TR T

3. AETICl YT 3fedle & TR W
4. fafd qur adslt & TR |
Correct Answer :-

« UscTaell dUT 3Heldle & TR W

5) R a1v ereg & fow W gATHaTH arer et B 9fFT F gAw - FEE
1. gAY, Ferd, AYRY, Mfde

Correct Answer :-

6) 3T FT AAH g AT F A FIT W T

1. aH

2 5fm

3. 3TITH

4, JTATITHeT

Correct Answer :-



7) R & FieT a1 gAN 8?2
1. 3cTAHT A

2. AR THAE

3. FHYURYT A

4. gfq9 waTH

Correct Answer :-

. HAURT FATH

8) <fiar =T AT ¥ H T AT ey B2
1. 9TgATT

2. HAATT

3. 5590 § HIS G

4. Shejared

Correct Answer :-

9) ‘3farelt IoTr HETaY F1 I3d v Raeui & § T a1 82
1. Y fAHreraT

2.9 o fAeeeT

3.3 feTerar

4, g I TAHTAT

Correct Answer :-

. QY AT

10) ‘@l SIAT of WA gV & fod U e e & A Fle7 @71 872
1. 39TFT

2. ITFT



3. AT

4, 3ITHT

Correct Answer :-

Topic:- GENERAL ENGLISH

1) Choose the option that best expresses the meaning of the highlighted idiom/phrase:
This television program is for the birds.

1. bird lovers

2. bird watchers

3. Worthless

4. people who are dim witted

Correct Answer :-

o Worthless

2) A sentence with an underlined word is given below. Choose the correct option which is closest in
meaning to the underlined word.

He seems to be harmless. We cannot accuse him of chicanery.
1. violence

2. short-temper

3. theft

4. dishonesty

Correct Answer :-
« dishonesty

3) Out of the following options, choose the most appropriate tense that best fills in to complete the
given sentence:

She a pretty dress to the party.

1. wears



2. wearing
3. wear

4, wore

Correct Answer :-

4) Choose the option that correctly sequences the following sentences.

1. Manufacturers and assemblers dump defective pieces and they produce 1,050 tonnes of
electronic scrap annually.

2. The problem may not be alarming since India has a robust second-hand market for most
electronic gadgets.

3. Though data on e-waste is not easily available, Toxics link, an NGO focusing on toxicity-
related issues, estimates that 1.38 million computers are junked every year in India.

4. There are 85 million TV sets, 20 million mobile handsets and nine million computers in the
country.

5. Not to mention other electronic gadgets like television sets and audio systems that are
routinely junked.

1. 13425
2.31542
3.54231
4. 32145

Correct Answer :-

. 31542

5) Out of the following four options, choose the incorrect sentence:
1. Our products is more expensive than other products.

2. Our products are less expensive than other products.

3. All the other products are more expensive than ours.

4. We are selling our products cheaper than others.

Correct Answer :-

 Our products is more expensive than other products.



6) Out of the following options, choose the correct form of adverb for the given sentence:

He speaks English
1. nicely

2. good

3. plainly

4. well

Correct Answer :-

o well

7) Out of the following options, choose the correct form of verb that is in agreement with the
subject for the given sentence:

Standing at the professor's lectern __ two students.
1. 1is

2. has

3. were

4. have

Correct Answer :-

8) Out of the following options, choose the most appropriate usage to fill in the blank:

He has been treated
1. hastily

2. angrily

3. shamefully

4, arrogantly

Correct Answer :-



 shamefully

Topic:- GENERAL KNOWLEDGE

1) Who among the following is NOT a member of Cabinet Committee on Security? /
farafaf@a & @ #la geanr w e afdfa w1 gewr 7@t &2
1. Minister of External Affairs / fae=r AmHel & Hft

2. Minister of Finance / faa #aY

3. Minister of Law & Justice/ plolal I = 74

4. Minister of Defence / T&T HAY

Correct Answer :-

« Minister of Law & Justice/ @le]sl I == 7

2) Koneru Humpy is related to which of the following games? /
F® grdl Aeafaf@a & & e @9 & gafta &

1. Chess / 2TadaT

2. Badminton / S3f#ea

3. Tennis / T

4, Boxing / ﬂa'ﬁw_cl'l\_rh'

Correct Answer :-

« Chess / qadT

3) Name the Thermal Power project that has been promoted by Madhya Pradesh Power
generating Company at Khandwa district in 2015. /

37 YA 9IaR WiSiFe FT A7 94139, 50 2015 & #eg yeor & @zar o & yd qaw
FRFEIT FUel gaRT WewdTied 4T aram §

1. Banas Thermal Power Project / ST U&Hol UTa Aloldc
2. Vindhyachal Super Thermal Power Station / Ta&aTdel qa UHT Iray T

3. Shree Singaji Thermal Power Station / #T f&amah UH A} T



4. Bansagar Power Project / STOTHRR 9y WIaide

Correct Answer :-
. Shree Singaji Thermal Power Station / Y f&amah UH e T

4) Name the agency that launched Global Pulses Research Platform near Bhopal on Feb 2016? /

39 TS & AT Td3d S0 BLad 2016 H AT F I TdlddT Todd RAY CAThE
A& |

1. [IPR

2. CPCRI
3. ICARDA
4. CRRI

Correct Answer :-

« ICARDA

5) Consider the following statements about the Niramaya Scheme of Madhya Pradesh
government. Choose the correct one. /

AT Y ISR &1 AART A9 & vy & fe v R #y« W R &%
3R wd Fuer gfaw

1. The scheme provides different coverage for different disabilities. /

Ig At RAffesT R[araierarst & T 37e91-37619T FalsT UereT Hdr &

2. The scheme provides same coverage for the beneficiaries irrespective of the type of disability. /

Ig AT, TAFATIAT & TR T W ATHIIIIT & GHAT Falsl Yeld aidr gl
3. Persons with developmental disabilities are not eligible for the scheme. /
AT Aot arer cafed 30 IS & folv I =87 g

4. Certain criteria are mentioned for selection of persons with developmental disability for the scheme.
/

AT & TAT fAhRNT fAheTar arel safedal & adel gd FO AT &l 3ooid@ fohar
T gl

Correct Answer :-



« The scheme provides same coverage for the beneficiaries irrespective of the type of disability. /

Ig AStel, [Fheieardr & YR & W ATHINAT T AT halsl Tl Hlal ol

6) Carotenes are foundin . /FAET _ HAIRT AT
1. milk / G

2. carrot / 9ol

3. meat / FATH

4. lemon / a_-ﬁi{\

Correct Answer :-

o carrot / 9T

7) To attract the investments into Textile Sector, MP government has provided an interest
subsidy for the textile projects for ___ years at a rate of 5%. /

& &aF # A3 F FNT W F AT, Feguesr WER & 931 gRIAS3T F 5
yfaerd A T & ant & v syrer afeus ye=r $ir i

1. three / fleT
2. seven / AT
3. eight / 3TS
4. five / 9T

Correct Answer :-

. five /9T

8) How many part-time members are there in the MP State Planning Commission? /
ALY TsT AT AT F fFaa oo deed &2

1. Six / &

2. Eleven / 9dg

3. Five / 9T

4. Eight / 31S



Correct Answer :-

o FEleven /3G

9) Which of the following districts is not a part of the project - “Increasing Adaptive Capacity to
Climate Change through Developing of Climate-Smart Villages” implemented by SKMCCC, EPCO,
Department of Environment, GoMP? /

FrafafEa & ¥ o a1 e, 7oy WReR F abai, sikftsh, wafeo fum & gri frafa
%7 -1 il & IS & ATeH §RT Faarg gRaed | gl & 9gE1 URATeHT &7 T far g1
1. Sehore / HIgR

2. Bhopal / $TdTel

3. Rajgarh / {ToTdTg

4. Satna / €=l

Correct Answer :-

. BhopaI/Sﬂ'qI?vr

10) is the only museum in India which houses contemporary folk and tribal art together
with urban art. /

YRA BT THHATH TIGTAY 8 S USTNH Al 3R T $aT DI e Fal $ A1 GG &

q T@ar gl

1. Anhad / 31<1g¢

2. Vagarth / @3Ter

3. Rangmandal / TETHSA

4. Roopankar / ®IThT

Correct Answer :-

« Roopankar / T

Topic:- GENERAL REASONING

1) Find the missing number: / TG TBAT JTd Be:
26, 37, 50, 65, ; 101

1. 80



2.81
3.82

4.77

Correct Answer :-

- 82

2) Find the average. / 3 Td T 2
65, 89, 100, 98, 89 & 75

1. 100

2.86

3.89

4. 105

Correct Answer :-
e 86

3) The below series uses a sequence of alphabets and numbers. Identify the incorrect combination:

/

= €t 18 e SeRY ud GBSl BT S H TART Hd! ¢ | Tad S uga |
(i)AY72AS81HR

(ii) AY72AS81HR

(iii) AY7ZAS81HR

(iv) AY72AS81HR

4, 1ii

Correct Answer :-

4) Which one of the following four addresses is NOT EXACTLY same as the one given below?/



farafaf@a fu v ar al & § AT Re 71w ad & S+ TAT FiT a1 vF 74 872

2 Sukhumvit Soi 57 Klongtan Nua,
Wattana Wattana Bangkok, 10, 10110, Thailand
+66 2 797 0000

(i) 2 Sukhumvit Soi 57 Klongtan Nua,
Wattana Wattana Bangkok, 10, 10110, Thailand
+66 2 797 0000

(ii) 2 Svkhumvit Soj 57 Klongtan Nua,
Wattona Wattana Bangkok, 10, 10110, Thailand
+66 2 797 0000

(iii) 2 Sukhumvit Soi 57 Klongtan Nua,
Wattana Wattana Bangkok, 10, 10110, Thailand
+66 2 797 0000

(iv) 2 Sukhumvit Soi 57 Klongtan Nua,
Wattana Wattana Bangkok, 10, 10110, Thailand
+66 2 797 0000

4, 111

Correct Answer :-

5) A tyre has two punctures. The first puncture alone would have make the tyre flat in 7 minutes
and the second alone would have done it in 4 minutes. If air leaks out at a constant rate, then how
long does it take for both the punctures together to make it flat? /

T® SRR B ¢ TR 81 3/ d Ugd UeR | TR &Y JUTe 811 § 7 fiie &1 90y @rar § 3R orbdl gk
TRASA4 e FTamm T g IR g T Faa R A TR Rl 8, A SN TR EA W R &
TquTe g1 ¥ fora=r 9wy em?

11
6 — min ;5ﬂﬁqﬂt
2 2
1. Fey
25 i fziﬁrrrc*
5 11 11



6
3 — min f?rE AT
4 11 11

Correct Answer :-

6 6
7= y Pl
11 d 11

6) IfX and Y are two sets such that n(X) = 23, n(Y) = 39 and n(XUY) = 49, then find n(XNY)./
I X3R Y @ 59 R § & n(X) =23, n(Y)=39 3K a@XUY) =49, @ aXNY)
EIGEET]

1.13

2.10

3.12

4. 11

Correct Answer :-

7) IfA=1,LOT =47,then MAT =? /
gfd A = 1, LOT = 47, 9t MAT = ?

1. 34

2. 40

3. 66

4. 51

Correct Answer :-

Topic:- PEDAGOGY

1) The law of readiness was formulated by: /

derar & fguia &1 gfauresr fawr ¥ fFar am



1. Gagne / 3

2. Thorndike / ¥faisgesh
3. Pavlov / Yadig

4. Skinner / THeX

Correct Answer :-

. Thorndike / ¥iis3H

2) involves thinking reflectively and productively, and evaluating the
evidence. /

# AORATT T { aUT ScUleh T ¥ T aor 8T F71 Hedrsha AqfAST
gt 2l

1. Critical thinking / TgsT RideT

2. Abstract learning / 3/ 3fERTH
3. Divergent thinking / 3m9arr ide
4. Reflection / gfafee

Correct Answer :-

« Critical thinking / 3igsT fidel

3) Interaction analysis techniques for verbal behaviour have been developed by
.

Alf@® sgaer & fAT Fgsnfar faReor dwedis arT AT #r 7§
Uil

1. Gagne / 3=

2. Brown / §13o0

3. Hurtz / &
4. Flanders / wolgq

Correct Answer :-

. Flanders / walgqg



4) The proponent of Trial and error learning theory was: /
TaeT-3fe e Ry @ & gar yeafda frar @ O
1. Kohler / ®lgeR

2. Thorndike / ¥fasIEs
3. Pavlov / Sadia

4. Skinner / TheX

Correct Answer :-

. Thorndike / ¥iissH

5) Verbs such as - write, list name and /abel- when used in an examination,
tests the: /

fram S - fAwen, g, a7 Jiiv deer - S9 vw wlen # sEaAT g § ar e v
gdiafor FI

1. Application level / 3fIaNT T
2. Evaluation level / HedTehad TR
3. Knowledge level / 3T TR

4. Synthesis level / TAYUT TR
Correct Answer :-

« Knowledge level / 3T €T

6) Rewards and punishments serve as: /
R 3R &3 et w7 F 1 Fa &

1. Extrinsic motivation / ST 9RO

2. Intrinsic motivation / 3ARe& 9RoT

3. Achievement motivation / 39elfs¥l 9ROT

4. Competence motivation / &7#dT SROT

Correct Answer :-

. Extrinsic motivation / ST 90T



7) Armstrong was the main exponent of .

HTHTEE % AET qfaues g
1. Problem-solving method / §&EaT-ger fafer
2. Demonstration method / 92l fafer

3. Heuristic method / 37T fafer

4. Project method / 9R&Tetar fafer

Correct Answer :-

« Heuristic method / 3TATA fafer

8) Human zygote contains: /

Aq IIAS H Wi &

1.23 pairs of chromosomes / 23 SIS VR
2.21 pairs of chromosomes / 21 Sfiar IO
3.46 pairs of chromosomes / 46 ST VR
4,42 pairs of chromosomes / 42 Sfiar IO
Correct Answer :-

. 23 pairs of chromosomes / 23 Siar qoTH

9) The barriers created in communication due to the dual meaning of words is a:
/

el & alEY 3T F FRUT FAR A @ are aee AT §:

1. Educational barrier to communication / ¥aR & forw dfeies smem

2. Psychological barrier to communication / ¥R & foIT #A«Idaias arer
3. Semantic barrier to communication / TAR & T eregrdl arem

4. Environmental barrier to communication / TIR & T gIaIoiy arer

Correct Answer :-

. Semantic barrier to communication / TIR & AT eI rear



10) Erikson believed that healthy development rests on: /

tREFTT FT AT O F Tary R @Ara w AR #wr @

1.a conflict between masculine and feminine elements. / 9% 3R & dedl & & Teh
Ty

2. a conflict between syntonic and dystonic tendencies. /

AT 3R fq@aEEaRd vgiaal & & v dqay|

3.a unresolved Electra complex. / Ush 37eTHelSI Soldel HANIY|

4.an unresolved Oedipus complex. / Ueh 3eTgelsll STSUH HANITY|

Correct Answer :-

« a conflict between syntonic and dystonic tendencies. /

FAEART AR oaaeaRa ygiat & &t guy|

11) Thinking is essentially: /

Raer et v @ &

1. a physical phenomenon / T& #ifas gcar
2.a cognitive activity / Te ATIcds ITdare
3.a psychomotor process / T HAIGROT Tfehar

4. an affective behavior / Teh FHIGATT cTTER

Correct Answer :-

. a cognitive activity / Te JATATcHSD AT

12) Mnemonics are: /

wHfa e &

1. Economic aids / 31¥e geradr

2. Memory aids / THfY TgraH

3. Magic words / STigs 2sq

4. Theoretical steps / deuifas axor

Correct Answer :-



« Memory aids / Tfd HgTH

13) The roots of Dialectical method of inquiry can be traced back to: /
ST #Y gEearcAF qeufa F He FT UaT 3% AT § AT ST Wehal o

1. Bertrand Russell / s¢3 3@

2. Plato / Teler

3. Aristotle / 3TE&q

4. Socrates / galld

Correct Answer :-

- Socrates / ghId

14) Which of the following observations supports Howard Gardner’'s theory of
multiple intelligence? /

frIfaf@d #@ & S A1 aeiha §a8 ISR F TG0 F Reyed N FARST HIm

g2

1. All intelligences are similar to each other. / T3 FefOHAAT, TH-gE & HATT gl
gl

2. Intelligence is an interaction of analytical, creative, and practical intelligences. /

9518, TaRANUTIcHS, TeilcAs 3R SATagTRe Jeiaadr I Teh H:fhar gl

3. It is impossible to mold all the intelligences in a classroom. / T H&T H T

SE A3 @I STl 3T B

4. Different intelligences are hierarchical in nature. / [af#==T gef@dcae, ghfa &
qeleIshide Bl &

Correct Answer :-

« Intelligence is an interaction of analytical, creative, and practical intelligences. /

9518, TaRANUTIcHeS, TelcHs 3R cATagTRe Jefaedr I T Ha:fhar gl

15) Which of the following is most important in the process of learning? /
sfterr i wftear & ey & & T waifos sAgeaqet 87
1. Economic condition of the child / sTa & 3+ Tufa



2. Cultural background of the child / S=a &I HiEhide ey
3. Style of learning / 3f&eTeT $r Aeir
4. Examination result of the children / STd &1 9dI&T aROTH

Correct Answer :-

. Style of learning / 31f&erd &T At

Topic:- HINDI

1) AFE-gATST # A gaEEt A gase & @ &)@ I 7 ws R o ) §
g 3AHT 8 9 3T, s, ar aeeifas @ w1 qeafde fe st @ Aqsa-shae
¥ aR® IR T 9a7 F wAfraa Rew & aw-wrr afecy 3k wwgfa &t ot 7
feaml qeanfae e & w0 & g oiFq, afFa ik wead & afes @ #1 AareER g
gl

yed 4: 3+ RORS & Fm a7 w

1. HIST-SMal & AR 3R S a7

2. 390 q FIg el

3. 3oThT 81T UTT: Tk, ATATTSI AT ASTeilide &l @l
4. @fged AR aEpia

Correct Answer :-

. 3T &F U 3Tk, Ao AT Uteifdes & &l

2) FE-gATS H AT gEEst # gawm F Qv &7 3w F as FAaRs @ @ F
Weq 3aHT 89 Y 3T, aenfaw.ar aedifas @ w1 qeanfde R st @ Aqs-shaa
¥ ai® AR T 97 F wafraa Rew & wo-ay aiter 3k o # R #7ea
feam efde Rie & w0 7 g afFq, afFa ik wead & ofes woer &1 IR @
gl

U 1: AG-AATS H $id @ A §?
1. dcge FATH
2. gdcd HATH
3. Sgsilfe HAH
4. gfqa gaTH



Correct Answer :-

3) FE-wATS # affes wAEaEt # gawe & v & g # 39w Reans & w §,
Teq 3T 8 Y 3T, amnfore,ar aeeifas @ w1l qeafde Re ot d Aqsg-shae
¥ snai® R aew 9a7 F gAfad R & wg-ay @it ik w5 # s Ae
faam qeanfae e & w0 & g oiFq, afFa ik wead & ofdT @ 1 AareER g
gl

eeT 2: 3T, AT, Teielifas & $led A TeqT IgFd g3 82
1.5% JcIg
2. T eI
3.3 Ycdd
4.% YcIg

Correct Answer :-

4) Fa-wHATe 1 Affe wEEnt # gase F Qv ) g # 39w REans @ w E
g 3AHT 8 Y 3T, amnfore,ar aeeifas @ w1l qeafde R ot ) Aqsg-shae
¥ aR® IR T 9a7 F wAfTaa Rew & aw-wrr afecr 3k wwfa &t ot #eca
feaml seanfae e & w0 & g ofiFq, afFa ik wead & ofdT @ 1 aareER g
gl

TR 3: 3UAFA HTAT FT 3T i TaEd?

1. Teanfde &g 3R Faegw

2. IEanfde g

3. qeaNfde g o 1 &

4. T%ANfde TOE & ®F # g Hidhd, A AR TEFH

Correct Answer :-

5) CANCELLED
St HARY F1 TFR T FY, 3 Fe -



INCICIE)

2. 3Tady
3. 3FATET
4, 3fazT

Correct Answer :-

. fady

6) “Vag @« fAfA, 9y #Ra a1g |

T | 8T | %R g&em & &t oIS 11 - Ig 6iFaar fradr 87
1. TAURY g et

2. ARAeg ERYTeg,

3. M UTSeh

4. sloigld Ycodlehy

Correct Answer :-

. aﬂ«-‘lrg g

7) 3 AT o NS gereT, Aaa 1 et § -
1. [AfRgea g

2. HITATe] T HERT =T Blell

3. g #1g g9 geel 7 @

4. STTeTaR. Gell SISl

Correct Answer :-
. ST A g deely 7 g
8) W 1936 g.ﬁmahmmﬁmmWMHﬁmamﬁgsm
1. TGAS
2. HIgTeT
3. feelt



4. ST

Correct Answer :-

9) guifafer & =l @1 waw B2
1. AT FATH

2. FHURY FATH

3. gded HHATH

4, ag‘qﬁ‘% A

Correct Answer :-

o 3T A

10) faest & & FlT-t ygfr 75 Ffaar A 78 @ o 372
1. dfgegay Sfas & 9fa 3caday eafaa &1 gfafsar

2. 33{fcY T ATATOTRT

3. ge el I i

4. AT IUry & gfd @Egardr efseshror

Correct Answer :-

. FATTSS AT & Gid EEIAEr gieeahlor

11) T0& & SR & da0i A § T & § Fla-w Fua e 2
1. 988l H HEUT T I Jreidr gl g

2. YIUT I HAUTAH difher 3R Hidepfodd gIdT Bl

3. 4107 H U & 37 3R TH & 9T g g

4. ATCH AT FAT yEad iR sfagra Ry g &

Correct Answer :-

« UgHT H $UT T T TUIAT 8T &l



12) 3 FaF & TR F o A BFU I, 37997 § e A Fla-ar g a9 82
1. Y8 dehdl

2. ¥ dehdl

3. cYIehIUT dohdl

4, 9¢ Tehdl

Correct Answer :-

o c[enUT dehdl

13) I SR A ‘AT H TOF & fraa a fre 2
1. AT

2. TANE

3.qH

4. §9E

Correct Answer :-

14) ITETF FAeageR I F FT YFR FT ATellad AT 1T 87
IREIC]

2. Gisaqardr

3. AAITILAYOTATET

4. AT

Correct Answer :-

15) FgredY AT Fa TG F @@ i f@wr 74w 37

1. sfagr
2. Sra=AT

3. GEATOT



4. 3@T

Correct Answer :-

16) JEfd & 8T # Y WATSEIG AT FAE §, Aifecd & 87 # af e &
1. 991G
2. JeTfdaTg
3. BIAETG
4. Jfqarg

Correct Answer :-

17) 33a e 5 # fcly §1 -39 a9 N W a7 # 5w 961 Fa-
1. 519 38eT gl a9 T e Arfeed g3

2. 381 39T HI fASY FamT|

3.3 el 3N @ gy gl

4.9 STeiar o7 & a8 ey #)

Correct Answer :-

. 38 39 HI AR Fdm|

18) wF Rufy & a5 qud Rufy s - fFw AgmEt #1 ad E2
1. fSSrelr a#HFaT

2. STl thehedl

3. FHIST T TGIST UgalT

4. %1 H @ISl gl

Correct Answer :-

« I H TS glell



19) g WT ¥ - SHA FIT W I §?

1. YReAdideh didy

2. s a

3. ATATAIdh diarg

4. Ataras g

Correct Answer :-

20) S $ITAT HeTaX FT 7Y ¢ -
1. geTdTel glell

2. Read ofer

3. gy few e

4. 39T T

Correct Answer :-

- Regd a=r

21) f3¥ I[od @1 A9, 38 TH Aeg H FAT Fgd &
LIdH

2. MY

3. forsiifasm

4. et

Correct Answer :-

22) =T U WIAT § - S T FT HAaras aFT g9 -
1. ¥3% & gl A& A @i e g

2. FSH o Hgl fF ag AL Wrar

3. 5% o U WS




4. & TSH & GaRT WIS AT g
Correct Answer :-

« A& 5% & GaRT Wi AT g

23) g X SATHT - SHA FIT AT AT B2

1. YRaddideh didy

2. A ag

3. ATATAIdh diarg

4. AaIS g

Correct Answer :-

o JTATdIdeh diard

24) gH WX 3N - IET FT AYYATEF T gem -
1. EX JH 30

2. A BX ST @ohd &

3. JH B A 3N

4. IFE W AT &2

Correct Answer :-

o JH WX AG T3

S

25) g3+ &1 9% R<dg &l a1 &2
1. 9cg+&h
2. JdT+Teh
3.9 + T
4. 9fa+Teh

Correct Answer :-

. gfa+us



26) 3 A1E | GH GUH 3T I - FlT AT AT §?

o

1. laragaras arey

2. YRdddideh didy

3. ATATAIdh diarg

4. Ataras g

Correct Answer :-

o

ld&HAddIdeh diad

27) AT, JFERY ATAT WHS X - HleT T qFT 82

1. gTSIdideh didd

2. AEagas ars

3. Gohddrdeh ey

4. Hegdrdeh e

Correct Answer :-

o STldiden dlad

28) Ywdg ¥ W 3usarw & fhAe e 1 AGIEHT F@T AT 872
1. 3MeTel

2. FIATHT

3. HHATA

4. 9ol

Correct Answer :-

29) frw Hfa & TET A Rgrawr f qdlr Fa1 82
1. 7AURY g aay

2. AR

3. 3R g



4. JerieTH

Correct Answer :-

30) fFY FTeq-Hahel & fAT AgRd AT F HARAT AT [EFR Yo Far ar=m 372
1. AT

2. S8R

3. greged

4. Qrqir@r

Correct Answer :-

31) e & ¥ X F FlA-ur A7 AL B2
1. GFATET & 99

2. Mk 9T

3. 9YUTS 99

4. {IST 99

Correct Answer :-

. JS 9T

32) faesT & & FlT YFA JA F HArTF A 82
1. AAHAR AT

2. §AINT 9ATE gfaaar

3. faeaanty gare @

4. sTolcedaTd

Correct Answer :-

. IR 9HIE gfaddr



33) fav & & Fia-ur A9y vwR B & yafaa 7@ 872
1. 93T fAey
2. dfferd faser
3. 9ard fAeer
4. JTIReE faey

Correct Answer :-

. yarg ey

34) v & & Fla-ar ATy F1 q01 AL P2
1. 3R &I FAT

2. Gi&cAdr

3. IG%h T ITFkdcd

4. 19 Y9UTdT TG Toilg 9T Aolr

Correct Answer :-

35) et & & FlF-1 AeF FHAGAE FFAAT Fa A §?
1. 39 IS gerir

2. T

3. TS

4, 37TSTG &7 Uah feaT

Correct Answer :-

. NG T Uk Tl

36) v H ¥ STAUFT WG GART AT T Fhe Y 82
1.E|Ta$r33:%’éa'r%

2. 3{eATTHERT

3. elgd



4. 5 IgR

Correct Answer :-

37) faFt # @ Fi A gavor i fQAvar 7 i
1. FEESET
3. FiaTedan
4. Hargeirerdr

Correct Answer :-

. gareefrerar

38) fArfaf@d & ¥ Wy 5y fufa & a&y a=r smwan?
1. 38T faHTa-3rgemma T et Fared o @l

2. STel T &) W Fr I-ar &fea @l

3. 5161 TH I STl T FAAT 38h ATH & HUT SR H A7
4. TH o 3T AT 3eIgel IoI G &l

Correct Answer :-

- TH & 3 HT Iefehel TuTT G &l

39) fasafaf@a & @ e F1 Fia-ur amr 78t 82

1. TRA-for

2. 3THER

3. e

4, JEATAT

Correct Answer :-

« gRF-RF0T



40) el Ay &1 7 W 37
1. @USSTr oy

ACERCIE]

3. A fafT

4. sTEAY fafg

Correct Answer :-
. sTEAr fafy
41) ST Usg AP F Faa 30-Ag @ 2
1.
2.ar
3.9R

4. lieT

Correct Answer :-

2) I A TNT e aa T A FEd §
1. IO

2. aTeFTy

3. Sy

4, SITY

Correct Answer :-

43) 3qat He AT cg aore, dwifaa &1 IS ¢ -
1. 3791 IRIAT G el

2. dict T Sreler f&@rer
3.mﬁaﬁa§?ra1mmm



4. QTN I AR HTAT

Correct Answer :-
o 39 GRMET F9T HLeAT
44) HaAYST, A, 3o AT Qe v fAwedl # ¥ fFasd e §2
1. Agled
2. AT
3. ufeica
4.3g

Correct Answer :-

45) myfas s smisd &1 wavyw Feffecor e fRgEe a B
1. 3145 aAi

2. 815l R

3. SLUTE.3R.Ea

4. HETAR v fgad

Correct Answer :-

. SLUUG.3R.EAA

46) &I & ITUR G HIT-TT B¢ Q18T &1 QAINT AT ST 872

1. TS
2. GR&T
3. gadar

4. 9Y

Correct Answer :-



47) R #r ggelt Afen Ferher FJ A@T ST 2
1. Few] $SRY

2. 991 Afger

3. [RIarEdT &t

4. GoTeT FANY Algre

Correct Answer :-

. FT AfgeT

48) R Freg H N sRER I ¢, I T sumaw vd Fefad & wost A 7
gl

1. redY gar
2. amag’ gar
3. QHG g

4, SIS 9T g

Correct Answer :-

50) f§dY &1 9geT FARK 99 87
1. 3¢d ATIUS
2. gTHET HATUS



3. 99 Iale

4, o YR

Correct Answer :-

. 3¢d HATAUS

51) IFIT QY FFI 1Al §7

1. 518l olieh a7 Area-faveyr gufer gl

2. STg1 ellehyafold ArENT IR eg T AT gl &

3. 5161 AT HT goiifd # Fs¢ &l

4, STgT ATHUT SierdTel & 2Teal H fAse Fifged & 9T g gl

Correct Answer :-

. ST8T ITHUT ST & Asel Hr fRse @Ifgey H gAeT g gl

52) gaeh1 fadls A qH g@ § q@ e 7 |

T YT REFa-ar g 3@ RAeq @ 7 11 - wga 9Fadt Fer 7 fhw )
1. AGICAr gAT

2. gdhid U forrer

3. giAATees de

4, STIAHT IS

Correct Answer :-

. STIART GIIE

53) AR & #l7 @1 AW &2
L dcqey AT

2. FHYURY FHAE

3. ded §AN

4. i waTH

Correct Answer :-



;4)m$mﬁﬁﬂamaﬁmzﬂwmmmaﬁ—m
I

1. SITAART AT

2. fasg

3. HORT TG

4, 3-1?:|9'3:|'IT:|'

Correct Answer :-

. fama

55) ‘SIITEIE ec HT TIH YAIFdT fhd AT ST 82
1. JTEITHSOT IMEATHT

2. e THEeS, YeFel

3. SIU 9IS

4. AHTER 10T

Correct Answer :-

« HAFCEX YUsy

290

56) ‘G THICHS HIAA’ fhE ITa gaRT & 71§ Feg-aRemT §7
1. 3ma faeEary

2. A gudr

3. A AFAC

4, 9f0Sd Tl SWETe=TTY

Correct Answer :-

N CID R CEEGIE)

57) ‘Raiarer frd HIST FT ereg §72



1. 3130
2. BT
3. AT

Correct Answer :-

58) ‘fafts’ ‘a1 MAW FT FTHeT ‘diell Sadl arelt agdhr ‘A Ferfadl & FEeeR
FiT &7

1. 3sgel TSfEACeE
2. AACT hiferdr
3. 3¢ Yehrel

4. Toleg, Ied

Correct Answer :-

59) ‘IHA FgT 4T Fgldl FT AGS AFT A F FiT §°?

1. gdeR gIRT T8E

2. 6T T

3. 9919 g

4. gLHTT T8E

Correct Answer :-

. ogeT g

60) BT & =ady v & & e SR F Fgr ST B?
1. 3S3BTT Hiddl i

2. ARECASh & HidAl I

3. IRdeqg HSA



4. foafor wiaat

Correct Answer :-

. dRETdH & HidAT Hl

61) ‘HTT oreg W UTg F T §?
1. AY

2. A

3.G%0

4, 37

Correct Answer :-

62) ‘F[ATEl T qgar fFud garT @ s &2
1. BUNRIT AT 0]

2. §irsH g

3. 31 Alleg

4, YA AR

Correct Answer :-

. YFHIT AR

63) ‘Feleh dhelsh o WA ATehdT AHTAFM|

ar 9 sk Jr @ dRwr - 59 g # FiF-A1 HARR 872
1. §9%

2. JHF

3. 20l

4. 3aTeXvT

Correct Answer :-

o JHh



64) ‘fFdr ereg frw T FT B2
1. 33T
3. =T
4. 3TTEY

Correct Answer :-

65) sfFashrellel fFd FAURT H “GATCHAT N ‘& aUT AT F 7w T & R
o 32

1. TAATEFT HTTURT

2. g SIeTERT

3. FEUTHIFT HTTURT
4, JTATHAT HICTHURT

Correct Answer :-

66) Thrgr # &l a1 AT &2
1. dcge FHATH
2. 3ded HAN
3. Sgsilfe AAH
4. gfqa wATH

Correct Answer :-

67) Administration &T & FT=azor gxar 82
1. FTRATT



2. 9T
3. ATHRIRT
4, 31TRIY

Correct Answer :-

o URMAA

68) ATaF F1 A faTdg Fia ar &2
1. AT+371h

2. AF+3H

3. A+3H

4. ST+31h

Correct Answer :-

. A+3H

69) forg 9T & e fFar 3R vF w41 &, 3@ Fla @7 T FE
1. fauTer arae arFa

2. afr g

3. QXA aTHg

4. GF dHg

Correct Answer :-

70) yfagy fa ‘Rordh faeg fAGm =Ry, s Fa1 W §ART & @ar Fa 3 G 6 §2
1. TAUT g feaaany

2. QITHATST UG

3. gRPeoT YA

. ol AN <eTer

Correct Answer :-



71) goromer fher a1 & avelr ST @7
1. HERT
2. ATeldl
4, Hard

Correct Answer :-

72) seltr wfere Ay medt sy A Fae s F Aewar yerw B w1E
1.20
2.22
3.24
4. 26

Correct Answer :-

e 22

73) FFpa el ¥ RAFHRAT el A FEd & -
1. SIS

2. FeFd

3. deqH

4, fagerst

Correct Answer :-

74) o IS Ay & Fla @ Redvar 7@ @ ¥ -
1. 3T ST Fhgh GIRT I ST 3 FoAolr A1feT



2. [eetr frdll AT 36T T Ush AWy &l ofe for@r S @miee|
3. Feeyr & e e # I FE TS Tl Tl F AR A AR
4. ORI H WER dRIFIT gl ATMgT|

Correct Answer :-

- 39T 1T AT IR AT a1 g aifeu

75) @ Rw v Rwedt & & Hla @r @ F7 Ior 2
1. STATHSHAT

2. eIl

3. GafTATcHAT

4. fToaRT fr warefierar

Correct Answer :-
. foart & warefhear
76) FEHT AAT T & FA et Ferfaal fodl, T -
1. AT & TGS, getf M @ler 3R 99 &Y Hr 9&
2. 5THE T SIEM, T FHlehr 3N Hhed
3. GEHAY Sliae, §e¥] $T Hiel IR 38 Hel AT
4,381 gl U1, gfaeafa, iR guag shad

Correct Answer :-

- EAT Sad, e H il R FHA Fer AT
77) eI yAR @A, aul § gEaas 42
1. TER Jodds gl

2. FGTCHT anel

3. 9fUsd SAAEIdTeT g®
4, Y. IMITTARY

Correct Answer :-



78) Rl wfaar # wAlrEE F1 yada FH Feg-GFdas d AT A1ar §7?
1. GHU Hech

2. dARHCAHR

3. FoaTT

4, 30gTeg dIom

Correct Answer :-

79) Rl & Wi ey & v F9-3 iy gfdgy &2
1. hERATY 3IdTel

2. gdHid Rurér forren

3. g arET

4. ST

Correct Answer :-

. T ey

80) Ie[EAR Iad A TATRAFT Fore F1 yfafafer g

L83, A

2. 3,3, 0,3
3. 8,31, Uod,H
4. HAINIS
Correct Answer :-

\\\\\

81) &7 WYFA sdo FI AT frer &Y quit & waler § gIw 2

1. H+T



2. T+
3. H+Y
4, F+

Correct Answer :-

82) IE-TN & T AT A &2
1. 3STAATT FATH

2. AR HATH

3. HHAURY A

4.¢dcd GHE

Correct Answer :-

83) uTg AT - FAgTAR FT 7T §?
1. 3T SIAT

2. 9dTl ofdTeT

3.9979 O P STl
4.39 S

Correct Answer :-

84) §ifa TFuE F vadF fRA AT STaT 87
1. ITAA

2. 3637

3. 3fATgared

4. GUST

Correct Answer :-



85) gedt, erdt, R, wys frw o ofaR & R F mera g §?
1. gfag & 9Rar

2. 3 AT 9RaR

3. GA-gIHAT gRaR

4. ATy

Correct Answer :-

. 2f3s AT gREr

86) fysmmwr & AT § -
1, ITSTHTST

2. ATTHTT

3. Teh Yid & el

4. T G Fr AT

Correct Answer :-

.« Th 9id ST Srell

87) 34efy RFad qamr Ra §?

1. TAURY g et

2. Hgredr gAT

3. 98 led Fardr fAwren

4. AT seeT ged

Correct Answer :-

. TAURY f8F feetet

88) Fprergey frud qamr WA E?
1. AR g et



2. QgeT ol gladar
3. QT ARIIOT 9Usd

4. gealdel offel g#T

Correct Answer :-

89) ‘THW & AWSF i §?
1. SL.elleg

2. {7 grgar

3. gHAR AR

4. Tt AT T

Correct Answer :-

. §iSH ATgel

90) ‘77§ ultr & AWF HlT &2
1. s grgar
2. YHAR $RAT

3. UegtR QAT e
4. ST

Correct Answer :-

91) qpT MRITE FFaF garT IR 32
1. 7@
2. B9

3. HYOT
a

4, ARTETS

Correct Answer :-



92) gy AW fhE Ag & derd raT §2

1. T g & e @ Y 910 fig & 3ideTa
2. §gFd g T £fee @ fvd aIv g & 3ieid
3. 7T FI TRC & o 910 fig & 3ddrd

4, 31 &1 e ¥ Ry T A & Had

Correct Answer :-

o TAT d1 T T R a0 A & add

93) RIaT AEEAY F [TWATFR FieT §2
1. Gelelg

2. RO ATeg

3. QAT

4. 90T

Correct Answer :-

94) gHIFHIOr HT A F4T Fom?
1. gATYTT

2. ToATenoT

3. fawHIHToT

4. TG

Correct Answer :-

95) ‘qfator & ey w7 et & @+l @1 2

1. 9&Jor



2. 4IRegoT
3. 9I&ToT
4. 9r&TeT

Correct Answer :-

« OIr&oT

Correct Answer :-

. gRaY T ST

97) ‘yRtSIHwS A F1 3t & Fa1 Fer S
1. Functional Hindi

2. Official Language

3. Working Hindi

4. National Language

Correct Answer :-

o Functional Hindi

98) g’ &1 AT FAT 92
2. AT
3. 3rEand
4, 3HAY

Correct Answer :-



99) ‘qdelt FHIe” Fwd gErr WA Iy B2
1. ¥Xard

2. AT HgFAC ST

3. Jerdiler

4. Goleleg;

Correct Answer :-

100) St BT IRHHA FA 3¢ Thadl JaFT AN -39 IFT F W 9T Fem-
1. IR%# & BT F Theldl G|

2. 9RsrT B 33T AH g

3. FAh gRaET o % gt
4.mmﬁqﬁmﬁwsﬂﬁvagwg3m

Correct Answer :-

« IR ©TF 379 g% g



